
Phone: 800-355-4628
Fax: 317-295-9822
E-mail: info@dqeready.com

Item # Description Unit QTY in Kit
HMSPT1501-1 Ball Plug - 1.375" ea 1
HMSPT1501-2 Ball Plug - 2" ea 1
HMSPT1501-3 Taper Surface Plug - 1" ea 1
HMSPT1501-4 Taper Surface Plug - 1.25" ea 1
HMSPT1501-5 Taper Surface Plug - 1.625" ea 1
HMSPT1501-6 Taper Surface Plug - 2" ea 1
HMSPT1501-7 Taper Surface Plug - 2.5" ea 1
HMSPT1501-8 Taper Surface Plug - 3" ea 1
HMSPT1501-9 "T”  Patch - 3" x 1.75" ea 1
HMSPT1501-10 "T”  Patch - 3" x3.25" ea 1
HMSPT1501-11 Screw Patch - 1/16" ea 1
HMSPT1501-12 Screw Patch - 3/32" ea 1
HMSPT1501-13 Screw Patch - 1/8" ea 1
HMSPT1501-14 Screw Patch - 5/32" ea 1
HMSPT1501-15 Screw Patch - 3/16" ea 1
HMSPT1501-16 Lead Wool Pack ea 1
HMSPT1501-17 Hot or Cold Hose Tape ea 1
HMSPT1501-18 22” x  22” - ¼”  Foam ea 1
HMSPT1501-19 18” x 18”  Sorbent Pad ea 1
HMSPT1501-20 Barrier Tape ea 1
HMSPT1501-21 PND  Plug Pattie ea 1
HMSPT1501-22 8” x 12”  Hard Rubber Patch ea 1
HMSPT1501-23 Support Ladder for 8" x 12" Hard Rubber Patch ea 1
HMSPT1501-24 8” x 12” x 7/8" Foam Patch ea 1
HMSPT1501-25 Fix-Stix Epoxy Putty ea 1
HMSPT1501-26 8” x 12” Neoprene Material ea 1
HMSPT1501-27 Wood Wedge Pack ea 1
HMSPT1501-28 Safety Hammer ea 1
HMSPT1501-29 22’ nylon straps with ratcheting buckles & rubber coated hooks ea 2
HMSPT1501-30 Drift Pin - Steel ea 1
HMSPT1501-31 Tool Kit - Steel ea 1
HMSPT1501-32 Carrying Case ea 1
HMSPT1501-33 Stainless Steel "T"- Bolts/wing-nut combos for 8"x12" foam patch ea 3

Item # Description Unit QTY in Kit
HMSPT1502-1 3/4" Pipe Plug ea 1
HMSPT1502-2 1" Vented Pipe Plug ea 1
HMSPT1502-3 1.25" Vented Pipe Plug ea 1
HMSPT1502-4 1.5" Vented Pipe Plug ea 1
HMSPT1502-5 1.75" Vented Pipe Plug ea 1
HMSPT1502-6 2" Vented Pipe Plug ea 1
HMSPT1502-7 2.5" Vented Pipe Plug ea 1
HMSPT1502-8 3" Vented Pipe Plug ea 1
HMSPT1502-9 3.5" Vented Pipe Plug ea 1
HMSPT1502-10 4" Vented Pipe Plug ea 1
HMSPT1502-11 Valve with Nipple ea 1
HMSPT1502-12 Hose Assembly ea 1
HMSPT1502-13 Tool Pack ea 1
HMSPT1502-14 Carrying Case ea 1

Leak Control Kits Parts List

HMS1502 - The Pipe Plugger ("C-1")

HMS1501 - Universal Leak Control Kit ("AE")



Leak Control Kits Parts List

Item # Description Unit QTY in Kit
HMS1503-1 Ball Plug -1.375" ea 1
HMS1503-2 Ball Plug - 2" ea 1
HMS1503-3 Taper Surface Plug - 1" ea 1
HMS1503-4 Taper Surface Plug - 1.25" ea 1
HMS1503-5 Taper Surface Plug - 1.625" ea 1
HMS1503-6 Taper Surface Plug - 2" ea 1
HMS1503-7 Taper Surface Plug - 2.5" ea 1
HMS1503-8 Taper Surface Plug - 3" ea 1
HMS1503-9 "T" Patch - 3" x 1.75" ea 1
HMS1503-10 "T" Patch - 3" x 3.25" ea 1
HMS1503-11 Screw Patch - 1/16" ea 1
HMS1503-12 Screw Patch - 3/32" ea 1
HMS1503-13 Screw Patch - 1/8" ea 1
HMS1503-14 Screw Patch - 5/32" ea 1
HMS1503-15 Screw Patch - 3/16" ea 1
HMS1503-16 Lead Wool Pack (3 oz.) ea 1
HMS1503-17 Hot or Cold Hose Tape (8') ea 1
HMS1503-18 Sorbent Pad (19"x16") ea 1
HMS1503-19 "Caution" Tape (3" x 100') ea 1
HMS1503-20 Plug & Dike Putty (10 oz.) ea 1
HMS1503-21 "Fix-Stix" Epoxy Putty (2.5 oz.) ea 1
HMS1503-22 Neoprene Material (8" x 12" x .25" thick) ea 1
HMS1503-23 Wood Wedge Pack (10 wedges, .5" - 1.5" wide) ea 1
HMS1503-24 Rubber Mallet (16 oz., 14") ea 1
HMS1503-25 Drift Pin - Steel (8" x .875" dia.) ea 1
HMS1503-26 Tool Kit (metal tools: slotted and Phillips screwdrivers, pliers) ea 1
HMS1503-34 Carrying Case ea 1

Item # Description Unit QTY in Kit
HMSPT1504-1 Neoprene Patch w/ stainless steel backing - 13” x 23” ea 1
HMSPT1504-2 Stainless Steel Support Frame - 12” x 22” ea 1
HMSPT1501-3 Stainless Steel “T” Bolts w/ Wing Nut Combo ea 4
HMSPT1501-4 Set Bolts for Frame ea 16
HMSPT1501-5 Tool Set ea 1
HMSPT1501-6 Carrying Case ea 1

Item # Description Unit QTY in Kit
HMSPT1505-1 Pipe Patch - ½” ea 1
HMSPT1505-2 Pipe Patch - ¾” ea 1
HMSPT1505-3 Pipe Patch - 1” ea 1
HMSPT1505-4 Pipe Patch - 1¼” ea 1
HMSPT1505-5 Pipe Patch - 1½” ea 1
HMSPT1505-6 Pipe Patch - 2” ea 1
HMSPT1505-7 Pipe Patch - 2½” ea 1
HMSPT1505-8 Pipe Patch - 3" ea 1
HMSPT1505-9 Pipe Patch - 3½” ea 1
HMSPT1505-10 Pipe Patch - 4” ea 1
HMSPT1505-11 Extra Foam - 22” X 22” ea 1
HMSPT1505-12 Extra Rubber - 8” X 12” ea 1
HMSPT1505-13 Tool Pack ea 1
HMSPT1505-14 Carrying Case ea 1
HMSPT1505-15 Tool pack - Non-Sparking ea 1

HMS1503 - Drum Repair Kit ("D")

HMS1504 - The Rollover Kit ("F")

HMS1505 - Small Pipe Leak Kit ("C-2")



Leak Control Kits Parts List

Item # Description Unit QTY in Kit
HMSPT1506-1 Pipe Patch - 5” ea 1
HMSPT1506-2 Pipe Patch - 6" ea 1
HMSPT1506-3 Pipe Patch - 8" ea 1
HMSPT1506-4 9” X 22” Extra Foam ea 1
HMSPT1506-5 8” X 12” Extra Rubber ea 1
HMSPT1506-6 Tool Pack ea 1
HMSPT1506-7 Carrying Case ea 1
HMSPT1506-8 Tool Pack - Non-Sparking ea 1

Item # Description Unit QTY in Kit
HMSPT1507-1 #8 Offset T-Bolt Surface Plug ea 1
HMSPT1507-2 #10 Offset T-Bolt Surface Plug ea 1
HMSPT1507-3 #11.5 Offset T-Bolt Surface Plug ea 1
HMSPT1507-4 #13.5 Offset T-Bolt Surface Plug ea 1
HMSPT1507-5 #8 T-Bolt Surface Plug ea 1
HMSPT1507-6 #10 T-Bolt Surface Plug ea 1
HMSPT1507-7 #11.5 T-Bolt Surface Plug ea 1
HMSPT1507-8 #13.5 T-Bolt Surface Plug ea 1
HMSPT1507-9 #1 “T” Patch ea 1
HMSPT1507-10 # 3 “T” Patch ea 1
HMSPT1507-11 #1 Offset “T” Patch ea 1
HMSPT1507-12 #3 Offset “T” Patch ea 1
HMSPT1507-13 #6 Screw Patch ea 1
HMSPT1507-14 #8 Screw Patch ea 1
HMSPT1507-15 #10 Screw Patch ea 1
HMSPT1507-16 #12 Screw Patch ea 1
HMSPT1507-17 #14 Screw Patch ea 1
HMSPT1507-18 Lead Wool Pack ea 1
HMSPT1507-19 Hot or Cold Hose Tape ea 1
HMSPT1507-20 28” x 22” ¼” Foam ea 1
HMSPT1507-21 Barrier Tape ea 1
HMSPT1507-22 PND Plug Pattie ea 1
HMSPT1507-23 8” x 12” Foam Patch for T-Bolts ea 1
HMSPT1507-24 Support Ladder for 8 x 12 ea 1
HMSPT1507-25 8” x 12” Foam Patch for ladder ea 1
HMSPT1507-26 8” x 12” Neoprene Material ea 1
HMSPT1507-27 Wood Wedge Pack ea 1
HMSPT1507-28 Safety Hammer ea 1
HMSPT1507-29 22’ nylon straps with ratcheting buckles & rubber coated hooks ea 2
HMSPT1507-30 "Fix-Stix" Epoxy Putty ea 1
HMSPT1507-31 Drift Pin - Steel ea 1
HMSPT1507-32 Drift Pin - Non-Sparking ea 1
HMSPT1507-33 Tool Kit - Steel ea 1
HMSPT1507-34 Tool Kit - Non-Sparking ea 1
HMSPT1507-35 Carrying Case ea 1
HMSPT1507-36 Offset S. S. T- Bolts for 8 x 12w/ S. S. wing-nut combos ea 1
HMSPT1507-37 18” x 18” Sorbent Pad ea 1

Item # Description Unit QTY in Kit
HMSPT1508-1 2” x 4” Stop It ea 1
HMSPT1508-2 2” x 12” Stop It ea 1
HMSPT1508-3 4” x 12” Stop It ea 1
HMSPT1508-4 Fix Stix ea 1
HMSPT1508-5 Wood Wedge Pack ea 1
HMSPT1508-6 Lead Wool ea 1
HMSPT1508-7 Safety Hammer ea 1
HMSPT1508-8 Hot or Cold Hose Tape ea 1
HMSPT1508-9 1 lb. Premix Plug-n-Dike ea 1
HMSPT1508-10 8” x 8” Plug Rug ea 1
HMSPT1508-11 Carrying Case ea 1

HMS1508 - Wedges, Putty, and "Stop-It" Kit ("WPS")

HMS1506 - Large Pipe Leak Kit ("C-3")

HMS1507 - Leak Control Kit with Offset T-Patches ("A-1")


	Table 1

